ENGLISH LANGUAGE

Directions (1 - 5) : Rear-
range the following five sentenc-
e (&), (B), (©), (D) and (E) in the
proper sequence to form a mean-
ingful paragraph, then answer the
given questions.

h the country's de-

ation sy sy S i econom-

tests
D)1t banda erats Buropoen
a distinctly

Tt to nurly 70 fotbal e,
1. Which of the following should
the FIRST sentence after
"

rearrangement
A @B
@c @D
®F

2. Which of the following should
be the THIRD sentence af-

®
3. Which of the following
should be the SECOND sen-

?

4

@c @D

®E

‘Which of the following should
be the FOURTH sentence

after rearrangeme

A )B

@c @D

®E

Whichofthe lloving should

be the FIFTH(LAST) s
fanin aine sonrremgecstat ]

A @B

@c @D

®E

~10) : Each of

Directions (6
the following questions has two

blanks

such backe, sach blank
mething has

ot i, Choaea the s

ds for cach blank that fits the

meaning of the sentence as
whole.

A clash between of
two rival gangs in huh secu
rity prison veral

inmates injured.
(1) member, left
(2) members, left
() loaders, leave.
(4) groups, put
®) vol\mlor- have
e bubie, il

to do a..g
e
Sarranted ta dovelopers.

(1) diligence, lent

@ diligent, lend

() diligently, borrowed

(@) carclessly, lent

® criesnes endiog

8. Acting vehicles
peblubing a7y, government
ordered all commercial vehi-

cles entering city to

(1) toughness, pay
(2) toughly, paying
(3) leniently, pay
@) tough, pay
(®) roughly, paid

© oo povjct has n

r fire for _____a vital

:Iephlm. corridor in Kaziran-

& aone, dorroy
(@) come, destructed
(3) went, destroying
(@) reached, destruction
(6) come, destroying.

10. Health minister has given all
city government hospitals a
two day _ to get pre.
pared for HINL
10y gab s el
(@ hardline, outbreaking
@) hendling cutbreak

cate them while answering some
of the questions.
“I promise to open a bank ac-

ising banks, and s puting plen:

ty of his own money where his

Touth e, an part of the gomilion

($7.5m) start-up cost.

Sinco April 2013 throo new
d

charge.

three outfits have taken over old

British




licences. A person, who d it
banking licences at the Pruden-
I Rogualtion Authority (PRA),
part of the Bank of England, says
le to open
banks in *unprecedented num-
bars”, Pour applicants are ikely
®

probnbly coming to m:
A loast ag fnr a5 the con-
Tamer s concernd,barking oould

o apply for a liconse has been

streamlined. The PRA claims that

a new bank can be up and run-

ning just six months after final
1

o0d Ealt of thie yer Metzo B
ich staried in 2010,

is opening new branches almost
a8 quickly as traditional vanks
like Lloyds, RBS, Barclays and
HSBC are closing them.

The banking sector is cur-
rently the subject of u review by

with the sutharitys criticism that
‘some features of the current banl
ing market “prevent, restrict or

lnm than to be. And
of tho new entrante aro act
ng like clasete sntroproncurs.
ey work out how the existing
customers, then
look for iches, whether In
s, customors or technology. All
Are oncouraged by the growing
willingn consumers_to
owih from ane bank o ancther
mulated in part by regulations
dosigned to make this easior
The niche will be about immi-
udents on short-
tay vi e S
nomic migrants. They
ed “oxtromoly badly
banks, ho claims. Ho will off
Sl g o ey lan-
guages, d ‘and also at a fow
Frenchan th ba lastted g the
‘most convenient places for his tar-
get customers — such as the rail-
way stations in London that serve
Gatwick airports.
Atom Bank's niche, by contrast,
is technological. Tt will be the first
British bank to be digital-only,

ny Thomson, co-founder of anoth-

also claim that their i
new products and technologies
wil help to address some of th
eriticisms. Mr. Mullen, for in-
stance, attacks what he calls the
opaqus priing of many current
& point of Atom
Bnnk e claims, i thatal s pric-
will be utterly transparent.
“Wo will drive change;” h says.
11, Which of the following is/are
corract in the context of the
given passage
. The young entrepreneur is to
start a now bank called U

 The Warkiup cho 40
bank is
L The yo\m' cmreprene\lr

(1) Only I and I

(2) Only TT and 111

(3) Only Iand TII

() Only 11

(5) All three T, T and 1T

‘What should be the most ap-
propriate title of the given
passage ?

(1) State of existing banks in
the United Kingdom

llowing a quits difrant oad: n .

(2) Prospective willingness to
open new banks in the

(@) Hurdles in opening a new
bank in London

(5) None of these.
13, Which of the fullowing state-
the given passage 7
12 Blnoe Apeil 013, three
h banks have

ig
(@) The eapital roquiroments
for the start-ups are high-
than they used to be.
@ All new entropreneurs
are encouraged by
growi fngniss of
consumers to change

banks
(4) Anew bank can be up and

0 They are thinking about
mmigrants as they ar:
troated sxtromely badly
by existing banks.

(@ Offering a full range of

products in many
‘guages and digitally
(3) Some branches to be Jo-
eated at the most conve-
nient placos for the target
customers
® Opening bank accounts
without proper identifica-
tion.
(8) None of these
16. Select the corret statement(s)
in u..mmru given pas-

1. M Bankssichn i tchn-
logical.

I Metro Bank was started in
2010,




Directions (21 - 26) : Read
each sentence to find out whether

2008-2009, rural India (28) for

tement
in the context of the given >
21. Tnsurance Ombudsmen have
(1V sought more power to set-
tle higher (2) claim cases as
the number (3) of complainta
continue to rise. (4) No or.

self. Key among these reasons is
poor teaching quality, which re.
sults from a multitude of factors
26. (1) minor  (2) major

passage.
(1) Anthony Thomson is co-
founder of Metro Bank.

(@ Al the priing of Atom
Bank wil be utterly trans-

parent, @) majority (& minority
(5) The Banking sector is cu (®) maturity
rendy he st of e g cases of dengue | g7, (1) go @follow

® All.nd (@ attended
@ Bm!m. Has and RBS

ts in bank- . 0 sy, incsomed

(3) arranged (4 counted
(6) accumulated
20. (1) tougher  (2)stricter

.
(5) None of these
Directions (17 - 18) :
Choote the ward/group of words

o 5 tovghat. 0 sl
e iy O e o :

e betyminge oo IR LA BN L

‘printed in bold as used in the pas- (1) nuanced (2) difference

@ similar (@) simplified
(®) divine

¥

. Over the past two (1/

ths, the prices of oil has

(2)/ surged due to (3) esti-
‘

17. D
u) Y it @leave

@ borrow (@cancel e of s ot
(®) accept. No error (5) SL. A trader has 400 kg of rice

18. Appear 25. With the clew of benefits ant Hesells a partof it at a profit
(1) seem business friendly policies (1¥ | of 36% and remaining part at
@ arrive i a loss of 24%. He overall loses
(@ begin to exist. 12% in the whol transaction.
(@) append Find the quantity of rice sold
(5) appease at 24% loss

Directions (19 - 20) :
Choose the word/group of words
which is most opposite in mean-
ing to the word/group of words

ited in bold as used in the pas

WsNkg (2330 kg
@)300kg (350 ke
(5)None of these

32. The volume and curved surface
area of a right cireular cylinder
are 462 cu. metre and 264
‘metre respectively. What is the
total surface area o the cylin-

(1) accepted (2)traditional
(3) modern  (4)elegant

(6) musieal der? (In 5q. metre)
20, Restrict 3z @3
) impede () limit @336 @

(@ control  (@allow
(5) restrain

the
dian children torun

@) government (S)Nme of these
‘primary schools in rural aress. In




3. In a vessel, there is a mix-

: specively: A quan-
ity of 13 resfrom the mix.

tor i repaced by 8 ltres of
apple juice. Thereafter the
quantities of apple and orange
Juices in the resultant mix-

ture bocome same.
the initial quantity of mixture

@85 “@ss

(®)125
3671680.11- 1208 x 1498 + %=
1644

w1z @13
@14 @15
(5)None of these

S s
12601=7

s
(176 litres (D65 litres o
@60 ltres (4)80 litres (5) Noe of the
15)Nmnmm 7, 9669 + 2099 + 7921 + 1197 =
Directions (34 - 38) : What
approimate valoe will omein | D140 @1
i nn  @us
place of tion mark 9 in | SNX
he folowing questions? (You are 2iene ot
pected to calculate the exact | 38, 1401 + 34.97 + 2198 x 535
value.) -t
34, 26.01% of 541 + (2997% of | (1590 @00
3001472 @540 (@550
w110 @us (5)None of these
Directions (50~ 49 Sy th Tllvin table carefly and -

state X who apppeared and
during last § years.
Tespective

candiinton who sualified in
these two years ? >

120 21220
(31330 @1150
(5)None of these

. Tn 2004, what percent of male:
candidates did qualify in the
exam among all qualified can-
didates ?

H

wew
@ 86%
(6)None of these

4. In2002.64% faprared

@e1%
@56%

did qualify.
undid-t- dld qual (y

in the exam

280 @170

(3)180 (4)250

(5) 240

42 In 2005 o total of 68 male

tes did qu ‘What

is e respoctve rai pe
tween.

had qualified in 2003 7

the average number

of candidates who

qualify in the exam in the
2005 7

years 2008
mues @15
@065 @105
(6)None of these

44. There are 6 red balls, 5 yel-
Jow and 3 pink balls in an urn.
Two balls are drawn at ran-
dom. What is the probabiliy
that none of the drawn balls

s of red colour ?
wg @%
o5 W
o

Dicislionm (4l s Wha
questio
mlri @ in the e e

"4 68 04 166 7 508
s @32
@2 @3
© 34
76 10 27 104 2
wse  @s1s
@ ws
)

47199 135 128 116 97 7
1 @es
@so wer
©80

10 10 16 5 W 2
w1 @150
@180 @
18

wes @85
@45 wss
®75 -



50. Time taken by a bual in going.

ntends toreach | (13667 (26157

upstreem & i | @es2  weew
trvicethetimetaken n oing the 1 e of thes
S dlsancodownstveam Fnd | (182 @175 (5) None of these
m.pe.a»m..up.m,m S7.By what percent apirosi
Covers 20 km downstream in 1 2 2 mataty s tho totsl numer of
o, @w2 Wi Tourists from ity A lesa han

that of all tourists from cit B

W6 komph @7 kmph (6 None of theae g all the monthe -o

()65 kmph ()72 kmph | 52.Bis8yoars olderthanAend8 | getpor?
he inger than C. 12 years
MormapmBuioan | STRSOVILT Y| om @i
areniis shesl or1s| MiaERammipmet) @3
3 es the point 3 Directions~(58 - 62): Ir each

at 12 noon, if he travels atan | () 88 years (@6 years | o e following auestions, o
e spod of 10 kmph, | (3 48 years ()60 years | gountions numbered I and Ti are
Find the average speed of | (5) None of these

given. You have to olve both e
Directions (3 - 57 : Sty the (lloving graph carefully and | equations and give answer

answer the questions given below it. Wi x2y
Number of tourists visiting country XYZ from city A and @it x5y
D aueing § difforent months @i et
@ it y
sciya
iy ifx=y or relationshp
500 bet

¥ cannot be e-
‘tablished

5.1 <2=81

Iy + 18y +36=0

layt-1y =0
611 2495+

Hay +oy+
2.1 2~ Tx+ 1
IL 2y - 19y + &

S WhsE fa The &t y 3. 24 mon can complete a piece
ol L 8 s of work in 18 days while 12
b my!: i ety (5) None of these women can complete the
i  from ity A and19 | 6. By what percent s the num- e e of vk 2 oy
s @10 than that from state B in the | roplaced by 14 women after
@15 @s month of June 8 days. In how many days will
©3 By @ 14 women finish the remain-

54 What is the respective ratio | (31225 (4145 ing work ?
between the total number of D12days ()14 day
tourists from states A an Gl — .
e Niay-and Jung | 56 By what percent the number '
boias g of tourists from city B @18days ()12 days

increased in August in res
6331 (264:75 =

to April 7 (515 days



64 Ague Ao 0% ol i montly s
spent 20%

ing amount.
 the respective ratio of 8 : 5
on tuition fees and library
‘membership. If he spent Rs.
1720 for membership, what is
A's monthly salary ?
(1)Rs. 8500  (2)Rs. 8600
(9)Rs. 7600 (4)Rs. 7500
(5 None of these
A invests a cortain sum in
eme A at. i

from both the schemes is R,
990. Find the amount invast-
ed in schemo A.

(1)Rs. 7500 (2) Rs. 8000
(8)Rs.9000  (4)Rs. 8500
(5)Rs. 8600

Directions (66 - 70) : Study
the following information carefully
the questions given be-

low
In a certain code language,
“offer prayers to god”is writ-

ten as bi

fprayers for nchwl usembly’
s written us ‘tm oc
“school offer xp«--l education’
is written s ‘nh )
‘assembly st b vt
tten us ‘da st rx '
(Al the codes are two lotter
codes only)
66. What is the eodo for ‘must’
in the given code language ?

da.
(2)Other than those given as
fons.

@
@tm
Bst

67. What code for ‘educa-
tion' in the given code lan-

guage?
(1) Either ‘mk’ or ‘nh’"
(2) Either ‘tn or gy’
(@) mk @nh
®)tm
08 lr il home' is coded as
in the given sodo
o pitger tins o
god will be cod
W pu gv o 1E)I7i ajoc
@dabist  @ajbipu

W rx gy mk tm
(@ tm vk rx gv
(3)0c gy rx tm
(4)st gv oe bi
(5)gv da nh pu

70. What does the code ‘da’ stan
for in the given code lan-
guage?

Mschosl  @)to

(@) prayers

(4)Other than those given as

options

(5) assembly

Directions (7175) : In each
of the following questions, a rela-
tonship between diferen ele-
‘ments is shown in the statements.
The statements are followed by
two Conclusions numbered I and
1L Study the Conclusions bused on

answer (1) if neither
Conclusion I nor Conclusion IT is
true

Give snmwer () fither G-
elusion 1 or Conelusion IT is tru

‘Gtve mnatwee 08 iF oty G
elusion 1 is true.

Give answer (4) if only Con-
clusion 11 it true

Give answer (8) if both the
‘Conclusion I and Canclusion I1 are
true

(71:72) ; Statements ¢ .
F<R<E2A>K;
Y2E

71. Conclusions :
L A>F
LR<K

72. Conclusions :
L Y>K
ILF<Y

(73.74) : Statements :
B<R<E=A2D28

csJ
73. Conclusions :
L E>C

5. Statement :
A>B2C<D<E<F
Conclusions :

L C<F
ILA>E
Directions (76-80) : In each
of the Iollwm. questions, two/
by two
Conclusions numbered I and 11 arc

decide which of the given Conclu-
sions logially follows from the -
en statements disrogarding com-
monly known facts.
ive answer (1) if only Con-
clusion 1 follows
Give answer (2)if only Con-
dlusion I ollows
Give answer (3) ifither Con.
clusion I or Conclusion II follows.
Give answer (4) if neither
Goncusion 1 nar Conclsion 11

x (8) if both the
Concusion Tand Comdusion T 1

76. Statements
Some slides are photos.
All photos are images.
All images are creations.



IL Al photos are creations.

7. Statements policesthen both

No space is & gaP- 2 s0ld more policies than only
Al fissures are gaps. W, X did not sell the highest num-
No gap is a crack. icies. The third highest
Conclusions al to

1. No space is crack.
No fissure is a crack.

polces han that of W.
;mong the following did
e exncty 53 poices
mx @y
@z @u
(5) Cannot be determis
84. Which of the lowing =y

Al points are views resent the
No view is an id icies sold by 27
Some ideas are thoughts. w2 @19

79. Conelusions L@ @3
1 %

Some thoughts being |
lity. 85. Who among the following &id
sell less policies than only V.

80. Conclusions v @Y
I At least some ideas are || (9X )z
points. (& Cannot be deiermined
L All thoughts being ideas (@690
is a possibility

Directions (81-82) : Study
the following information caref
Iy and answer the questions given
below :

paralel rows containing
A X TN iy koo e
sistr of D. Lis the father of S 1
has only one daughter. M is

dnughter of 5. P1is the dlngh(er

. IRis marred 108, then how.
s R related
e el (2)Nnvhew
(@ Son-in-law (4) Uncle

them are facing north but not nec-
ily in the

fore, in the given seating arrange-

‘ment each member seated in 2 row

82. How is S related to P7 o ‘member of the oth-
MAunt (@ Sister
(®Mother (4) Niece " st exacty in the middle of
©)Orandmother the row. The one who faces V sits

83-85) : Study |
the fnl\uwm‘ niormation
er the questions .pm\

an immediate neighbour of D. G
oes mot sit at the extreme end of
the row. X does not fa
86. Who amongst the following is
v?

facing
e @E
@F @D

(5)Cannot be determined

Which of the folloving st

‘ments is true regars z

T faces F

@ Only o persens it 10 the
R of T

8.

-t ——

of W
mu s fourth to the right

LS)‘{nne of the given state
nts is true

v\vrm isthe ositon of Dwith

it 2 the right

(2)Second to the right

(3) Immediate left

@) Third to the left
(5)Second to the left

Four of the following five are

9.

U
90 Who amongst the following is
facing
T
@v
®U
Directions (91-95) : Study
the following information careful
Iy and answer the questions given
below
Eight persons
QR,S, and T-are slumg ot
a circular table facing the centre

M

persons are sitting between Q and
L. M is sitting second to the left of



Q. Three persons are sitting be.
tween L and the wife of M. The

son of M iu sitting second to the | Iy and answer the questions given
right of the wife of M. Three per- | below
Seven persons - 0, . Q
Tandl o irowel e

Mareh \,r.\ln July, Octabe ediate

R Ris L | 1y'in the wm order. B uy one J

Tho sister of M is sitting second e T e - the give
10/the lft of R. K s sitting £ the ’
immedine right of the siste of M, | 110 ¥it- "j b8, ey m,':M

Ko feraas areniting betweat | hoct bt mos seceeesrily i o

K and tho father of M. &

second o the right of the mother
o " The one who likes envelope

- Who amangat the llowing s | 2téended farewell § LS e
aving less
@R TR
h M oy
roein of M |l b . Q attendd fareml ; s
with respect to Ms | party immediately aft 30 U

rsons attended
farewell party betwoen Q and P,
U attended farewell party in that
month which has less than 31 days.

attended farewell party imme.

(1)Third to the right
(2)Second to the left
(3)Third
(4)Second to the right
(5) Immediate right

93, Who amongst the following is

e wif ?

the left

party betwoen O

the wife of and the who likes folder. O does
Y 28 not like label.

oL The one who likes pen tand

ed farewell party imme be

%, w o the llowing sat. | 672 the one who ke workaiodt

ler. The person
label attended the fare.
well party in the month having less
than 31 days

irue egaring ihe
0 M father i iting t the
modiate left of M's son

ghter and (3) Label
(5) Worksheet

g justop- | 97, Which of the following co

father. binations of Month-1

given state Stationery Item is correc

95. Who amongst the fol
the sister of M ?
WR @s

J

£ May - Q - Ruler
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